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Event selection

e Useete™ —» KKnnr? as the control sample.

* 4 good charged tracks
* PID to select KKnmr

* At least 1 good photon

* Use 3C to select the proper photon then recoil yKKmm (miss the photon)
2
* x3c < 100.
* The recoiling direction should be in cos@ €]0, 0.8], [0.86, 0.93].

* The angle between the recoiling direction and the nearest charged track should be
larger than 10 degree.

 Select the photon which is closest to the recoiling direction (tag the photon)
« M(yy) € ]0.1,0.18]



[
‘‘‘‘‘

+ Data

— Best fit

e

P —

0

o
ME(

0.02
KKmt)

70.03 0.04

GeV/c

0.05

+ Data

— Best fit

-
i

‘h_|

0'012 0.02 003 94
M*(KKnr)  GeV/c

0.05



0.10~0.20
0.20~0.30
0.30~0.40
0.40~0.50
0.50~0.60
0.60~0.70
0.70~0.90
>0.90

69.63+-0.3
82.20+-0.3
87.50+-0.3
92.73+-0.4
91.22+-0.4
90.72+-0.4
93.40+-0.4
98.09+-0.4

72.59+-0.2
83.13+-0.2
84.19+-0.3
89.25+-0.2
93.83+-0.2
92.85+-0.2
95.75+-0.2
99.95+-0.2

Momentum region(GeV) Eff_data(%) Eff_MC(%) Difference(%)

2.96
0.93
-3.31
-3.48
2.61
2.13
2.35
1.86
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